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e (Very Short Answer Type Questions)
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 Answer all the five questions. Each question
~ carries 3 marks. Very short answer is required not ,,

exceeding 75 words. 3x5=15
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~ Describe the main characteristics of "Modern
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Define the term 'Plant Layout'. ‘

“ I A’ 1= i gR Hifo |

d 3 ﬂ!
'* E s , Whatare the objectives of Rationalisation? 3
’f GRRTHT 3 T T & 7 | z
i » Section-B | ]
k. qUE-q |
: (Short Answer Type Questions)

(g sl o)




Differentiate between Plant, Firm and Industry.
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~ Answer any three questions out of the following

& Wriico i : . . ]
~ five questions. Each question carrics 15 marks.

Answer1s 1equ1red in detail. 15%x3=45

ﬁwﬁﬁaﬁwqﬁﬁ%ﬁﬁmmﬁ%w

'-fﬂpljf” Eﬁ %l § ‘\w
' ' Y "’

at is the concept of 'Business' ‘?_ D1scuss tlae 8
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ous stages of the development of busmess



. Discuss critically Sargent Florence's Inductive

# theory of Industrial location.

A Illustrate your answer in
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+ short notes on the following :

S Limited Liability Partnership (LLP)

) Size of a Business unit.
- e T wiftre feaforar fefer -
@) St e FEd '
(i) SR g, ST





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

